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Коробейники (Korobeiniki)

Transcribed by Cezary Sławecki

as improvised by Tom Brier


 molto rubato  

         


     
 

  
 

 


 





    

     
 

  


                   

  
        

 





  
 

    
  

 
    

  

q = 145


 

           
accel. sempre


   


 

   
 

 
      

             


    

                       
 


       

 
         

  


 

               


    
rit.     

     
   


  

  
 

    


   



q = 240


   

rubato


                         

 
  

















  

 
     




           

               

   



 
     

 
    

       



  

  
q = 180


     

rit.

       

accel. sempre




           
 





    



    

    


    


    


 


 


    


         


  

 


    


    


     
     

  

q = 265


                   
  

    
 

      

    




  decel. poco a poco

              
 

  


    
     




 
     





 
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


q = 210


 

     
rit.

      
accel. poco a poco

    
  


 

    


  


  
     

 


 

q = 240


 

    
     

  


            

 


  
  

 


         
  


 


            

 
           

 
  

      
      

      


 

        
 


         

   
  


     

       
     




q = 230


    

     
 

rit.

         

accel. poco a poco


        

 

  


        

 





  



 

      


  
           

 


 





     
  





 



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
 

         
  

         
 


 


 

     
  

with light swing


 

  









h = 112-128


     


 

rit.  


 
    


       


   

  
 


       













 

   
 

          


     
 

     
 

  



 











 
















     



swing 8ths

                       
  

    
 








 







             

    





   
 

 
3  

 
 




 



 







  

  
                       

  









 




 




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
                 


  


       



  
 

 



 




 






 




 


 maintain swing

 


 


















 





 








  
 
















 



  










 













 



 





 











 


  



 







 
 







 




 





 
                         

  





 



    

 
  





     


 

              


  


      

 

 






       

 
 







    


      




     


    





  





     


   
       
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
            


  straight 8ths

        
 

 


 
   


  

 
     


 accel. poco a poco

      


              

 
 

 
 











 


 

 
 

 




 

 


 




 




h = 130


             


    

      
 

  
 


 

 
 

 
 

 
 

 
 


 

      


    

      
   


 

      
     

 








              


 

                       

 
    

 


 
 

 
    

  


                           
         




      
       
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h = 128


 


  

















          



  
   

   
        


  


 

   
   

 
 

        
       

   
     

 
 

 



   

 























    
 

      


                  


  

 



  

















 

                      
     


  



















 



 

 
   

                
       


 

        
meno mosso

   
         
3 3

            
  





 
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
       



a tempo

                


   
  

      



  


                   

        


 

                            


 


          

straight 8ths

               
3

3
 

     
 


                

                 
3

 

 

  

       


  

 
            

   
                    


                 
                         
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
         


         


  


 

                      


                         
        

  
                   


 

            
 meno mosso

      
               


 


        



 

 a tempo
 

 
 swing 8ths     

    

   





 


   

  
 







                 

   


  
 

  












 

 






  


  

   
 

 
   

 
            

 

  



  

  
   

  



 






9




              

       


 


  
 

  
 

 






 

 






  

  
  

  
  

 


 


 



 
  

 






 

 









 

  
3     

   
3

   
     






    

3

        
3

   
   










 












straight 8ths    

 
 


  

     
 



 








 
    

        


  

 molto rit.
 

 


    


  
            




                           
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h = 80


 



  




  










 






























 














 










 







 a cadenza

3

 3 3
3

3
3 3

3 3
3    

                                   
 







      




rallentando

  




 

 










      







 
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